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PREFACE

This manual provides complete solutions for the exercises in Mathematics for Business,
Ninth Edition, by Stanley A. Salzman, Gary Clendenen, and Charles D. Miller. Solutions are
provided for all section-level exercises and supplementary exercises (including those
contained in the appendices) and for all the Review Exercise, Business Applications, and
Cumulative Review exercises.

The supplement should be used as an aid to mastering the course work. Students, try to solve
the exercises on your own before you refer to the solutions in this manual. Then, if you have
difficulty, study the solutions. A conscientious effort has been made to write solutions so as
to be consistent with the methods and format used in the textbook examples.

Special thanks go to Dallas Freeman and to Dean R. Richmond for technical support and for
the careful accuracy check of this supplement.






CONTENTS

CHAPTER 1
CHAPTER 2
CHAPTER 3
CHAPTER 4
CHAPTERS 1-4
CHAPTER 5
CHAPTER 6
CHAPTER 7
CHAPTER 8
CHAPTERS 5-8
CHAPTER 9
CHAPTER 10
CHAPTER 11
CHAPTERS 9-11
CHAPTER 12
CHAPTER 13
CHAPTER 14
CHAPTER 15
CHAPTER 16
CHAPTERS 12-16
CHAPTER 17
CHAPTER 18
CHAPTER 19
CHAPTERS 17-19

APPENDIX A

APPENDIX B

Problem Solving and Operations with Fractions
Equations and Formulas
Percent

Business Statistics
Cumulative Review

Banking Services

Payroll

Taxes

Risk Management

Cumulative Review
Mathematics of Buying
Markup

Markdown and Inventory Control
Cumulative Review

Simple Interest

Notes and Bank Discount
Compound Interest

Annuities and Sinking Funds
Business and Consumer Loans
Cumulative Review
Depreciation

Financial Statements and Ratios

Securities and Distribution of Profit and Overhead

Cumulative Review

Calculator Basics
A.1 Scientific Calculators
A.2 Financial Calculators

The Metric System

21

49

75

93

929
111
135
151
165
169
187
215
229
233
253
273
295
311
331
335
365
385
405

411
411
413

415






1.1

10.

11.

12.

13.

Problem Solving

. 80+75+135+40+52 =382

Beth rode 382 miles.

. 325+75+137+495+105=1137

1137 pounds of these coffees were sold.

. 1815 —-1348 =467

467 passengers remain on the ship.

. $250,000— $15,000 = $235,000

There is $235,000 more in the large
machines than in the small machines.

. 25-08=17

The required reduction is 1.7 billion tons.

. 890024 %365 = 77,964,000

The increase in world population in one year is
77,964,000.

. 24255824634 = 2477

The car will weigh 2477 pounds.

. $2324 —$734 4+ $568 = $2158

The balance in the account is $2158.

. 24,000,000 — 7000 = 23,993,000

There are 23,993,000 small and midsize
businesses.

21,375-9250=12,125
The weight of the firewood is 12,125 pounds.

900x365 = 328,500

328,500 World War II veterans are projected to
die in the next year.

$30,000x 12,600 = 378,000,000
The total cost to the bank is $378,000,000.

$239—$89 = $150
$150x5 = $750
The amount saved is $750.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

24.

25.

Chapter 1 | Problem Solving and Operations with Fractions
—— d

$625—$75=$550
$550 x4 = $2200
The amount saved is $2200.

(6x$1256)+(15x $895) = $20,961
The total cost is $20,961.

(27x$986) + (12x$179) = $28,770
The total cost is $28,770.

1250 —(30%25) = 500
There are 500 balcony seats

500+-25=20
There must be 20 seats in each row.

(24x30)+6=120
A total of 120 boxes of wreaths are shipped.
120+5=24

Each shop will receive 24 boxes.

44x8=352
35.2 hours would be needed.

$2679.99x14 = $37,519.86
The cost is $37,519.86.

38+0.58~65.5
There are 65.5 million shares.

42 +0.65~ 64.6
There are 64.6 million shares.

221+8.359 = 26
26 coins can be produced.

57.13+1.62=35
35 dosages can be made.

(a) 100x0.0043=0.43
The pile is 0.43 inch high.

(b) 1000x0.0043=4.3
The pile is 4.3 inches high.
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26.

27.

28.

29.

30.

1.2

Chapter 1 Problem Solving and Operations with Fractions

(a) 43+0.0043=10,000
There are 10,000 bills.

(b) 10,000x$20 = $200,000
You would have $200,000.

(a) 42x4.3=180.6

The manager worked 180.6 hours each

month.

(b) $3250+180.6 = $18.00
The manager earned $18.00 per hour.

(a) 48x4.3=206.4

The assistant manager worked 206.4 hours

each month.

(b) $3539.76+206.4 = $17.15
The assistant manager earned $17.15 per

hour.

$246,500x0.06 = $14,790

The fee was $14,790.

6.5x$8.70 = $56.55

Her total cost was $56.55.

Addition and Subtraction of

Fractions

(1x8)+3 11

REESLLL AL
8

8 8

8 (2x11)+8 30

n a1

T (22x8)+7 _183

8 8 8

1
152=( 5x3)+2=£
3 3 3

12%: (12x8)+5 _1ot

8 8

5 (17x8)+5 141

8. 172=— "=
8

10. —=

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

40 _40+5 8

75 75+5 15

36 _36+6_6
42 4246 7

25 255 5
40 40+5 8

27 _27+9 3

45 459 5

120 12030 4
150 150+30 5

24 _24+8 3
64 648 8

13213241211
144 144+12 12

40 _40+8 5

9% 96+8 12

9% 96+12 8

180 180<12 15

32 32:32 1
128 128+32 4
3
ST
6

1

1
509 —=1-
)3

5

4



23.

24.

25.

26.

27.

28.

29.

30.

31.

32,

20)76

60
16

35)190

175
15

76 _516 ;4
20 20 5
a2 _,12 ,4
15 715 75
14_.3
111

P _¢T

8
21_,6_,2
15 15 5
&_,3

52 52
124,60 _,15
64 64 16
190 15 3
35 T35 7
81_,17
32 732
360 _ 540 _ 5
64 64 8

Chapter 1 Problem Solving and Operations with Fractions

33. Answers will vary.
34. Answers will vary.
3, 2, L2413
5 5 5
36 2, 4 _2t4_6_2
9 9 9 9 3
3, 1,3 14 5 1443 17
10 20 20 20 20 20
38. §+_:_+_:ﬁ:§
8 8
s, 1,8 35 32 35+ 6
12 15 60 60 60 60
g0, 2L 15 14 15+14 29 5
8 12 24 24 24 24 24
a2yl 18,1 1841 19
11022 2 22 2 2
g, 2 7B 14 +ld 29 11
6 9 18 18 18 18 18
35 1 27 20 12

43.

44.

45.

4793 36 36 36
_ 2742041259 _ 23

36 36 36

1,1, 1_6,3. 2
12724 24 24

48
_6+3+2 11

24 24
5 3.5 20 18 15
+ —_— —_ —_

6 4 8 24 24 24
_ 20418415 _53_ 5

24 24 o4
7.8 .5 21

I, 25

46. —+—42=
10 15 6 30 30 30

30 30

_ 21416425 62 _ )2

30 15

7

60
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47.

48.

49.

50.

51.

52.

Chapter 1 Problem Solving and Operations with Fractions

823
5
15t
972
5
252
7
Ve
392
51l o511
4 4
429l 2092
2 _ 4
80>
4
382 — 38>
18
29l 996
3 18
Larl o2
2 18
11430 a2 g1512 252
18 18 18 3
33—l
4 24
6l_ 3
3 24
VRN yIC]
8 24
52 _5p 117 5317
24 24 24
16 — 1628
10 40
261 — 268
5 40
133 g
8§ 40
5021 — 501l — 5L
40 40~ 40

53. 892 — 89>
9 79
1ol -102
379
L7l g7l
99
186%2186+1:187
s, 74l 41
5 70
582 — 5820
70
co2 = 2
0~ 70
153§_153E
70
55, L 3_4_1
8§ 8 8 2
s, M5 _6_1
2 12 12 2
57, 2.1 _4 1 _4-1_3 1
36 6 6 6 2
sg, L 1_7 4 _7-4_3
8 2 8 8 8 8

59.

60.

61.

62.

63.

S 1. 2 3 _17
12 16 48 48 48

5.7 15 14 15-14 1

6 9 18 18 18 18

3.5 9 5 9-5_4_1
4 12 12 12 12 12 3

\
— p—
[\ (@)
|Jw W
Il Il
p— p—
[\ (@)}
©o|Ww |

N
0 | W



64.

65.

66.

67.

68.

69.

70.

5— =25
24 24
BTN
12 24
73 _41
24
o7 _o2L
8 24
62 —6l0
12 24
3L
24
242 a3
18
ERTEISTEY
9 _18
62
18
71E = 71i
8 24
_ 621 — 62£
3 24
g L
24
1922 9&
6 12
EPENRTES
12
7L
12
19 = 18i
4
_ 122 = 122
6—
4
374 = 373E
6
— 2112 = 2112
6

162—

Chapter 1 Problem Solving and Operations with Fractions

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

Answers will vary.
Answers will vary.
Answers will vary.
Answers will vary.

1 1 2 5 10 16

S = —
8 4 5 40 40 40
_5+10+16 _ 31
40 40

The total length of the screw is i—(l) inch.

11 1 12 20 15
534 60 60 60
12420415 47
T 60 60

The total length of the bolt is 2—3 inch.

7 1,2 1 21 12 16 38

==+l o=l l—F—

8 2 3 3 24 24 24 24
24 24 8

The total distance around the wetlands
reserve is 4% miles.
9z+51+91+5£= 28E =30

8 8 8 8 8
The length of trim needed is 30 inches.

E_F %_E_E_E_E 3

6 |8 8 16 8 16 16 16

The diameter of the hole is li inch.

7 [1 1] 7 [1 2] 7 3
—_ |-t ===t ===
8 6 3/ 8 (6 6/ 8 6
_7 1 7 43

8 2 8 8 8

There is % liter of fluid remaining.
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1

1 3

81. 5—+6—+3>+7
2 4 T4

2

_52i 614329
454 T4

_28
4

3

_»2_pnl
4 2

Hernando drove 22% hours.

82. 314-22—1—71—1—1i
4 8 2 16
EERSE LN AN
16 16 16 16
:1322141
16 16
A total of 14% tons of vegetables were sold.

83. 81— 21+3+1§
8 2 4

:81_ 2%+3+1§]
8 4 4
4
_s7_ 71]
8 4
_gl_72
8 8
8

5 . .
lg cubic yards of concrete remain in the truck.

84. 15—[3
=15—
=15—

=15—
—14d
4

4

Trageag)
4 8 8

30,4157
8 '8 8

0]

8

llé]
8

13
4

84. (continued)

There are 3% yards of material remaining.

gs. 4L 45t 33 6l
2 74 T4 3

—4%ys52 430 46l
12 12 12 12

:182218—1-12:184—12:192
12 12 6 6

A total of 19% cases were sold.

86. 3§+51+4§+31+6
8§ 2 4 4

—32 1524403216
8§ 8 8 '8

:21£:21—|—IZ:22z
8 8 8

Altogether, she worked 22% hours.

87. 40—[81+61+73+8§]
476 3 4

—a0-[83 y6 278 g2

2 12 1 12

=40— 292]
12

=40— 309]
12

= 40— 305]
6

_398_302
6 6
6

Julie worked 9% hours on Friday.
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88. 3411233 134l 033
2 T4 T2 Ty

—342 4033 13424033
4 74 T4 s

— 11410
4

:116%
4

:116l
2

The length needed is 116% inches.

3_
4

[10814— 162§+ 1431]
4 8 2

= 51837 1082+162§+143i
4 8 8 8

_ 5185 4132]
4

8
_ 5185~ 4141]

4 8
_s518% 4141

8 8
— 1042

8

The length of the fourth side is 104% feet.

90. 527i7 107g+1503+138é
24 3 4 8

= 527L—[107£+150§+138 15]
24 24

24 24
_ 507 L {3954
24 24

527 1 397 €L
24 24

=130

The length of the fourth side is 130 feet.

1.3 Multiplication and Division of

10.

Fractions
1
S Z_5x1_5
g3 4x3 12
4
1
Z 1 1Ix1 1
—_,X—=—= —
8 £ 8x2 16
2

9 11 _ 9xI1 _ 99

10716 10x16 160

1 .1 5 7 5x7 35 3
l-x3—="x—= =24
4772 472 4x2 8 8
1 9
1§x2%_§x1£__ixz%4%
X
W
2
6rq2 B 14 214
31 F 1x1
1
3
W5 B3
A1 1x1
1
1 2
§x§le:1xgx§
47972 A g2
1 3
—1X2X5—£—1£—1%
Ix3x2 6 6 3

_SxIx1l_55_ 7
S 1x4x3 12 12

_ Ix3x13 39 ’ 7

T Ix4x4 16 16

9
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11.

12.

13. !

14.

15. —

16. !

17.

18. —

19.

20.

Chapter 1 Problem Solving and Operations with Fractions

21. 3

22,

23.

24.

25.

26.

27.

28.

29.

30.

31.

1 15 25 15

6+11:6+§
4 4
—§X£—6X4—24 4

1 5 5 5 5

Answers will vary.

Answers will vary.

$8><11: $,8/ 3 _$4><3:$12

07T
1

7
S 3 _$7x3
1 Ix1

=$21

$14><ll:
2

-1

1

$17x1—= ><g
2 2

37
1
:M:@:$zs,5o
1x2 2

$9><ll:$—9><E
2 1 2

_ $9><3 $27

—=3$13.50
Ix2 2

$10.50><ll:&><i
2 2 2

$21x3  $63

= =—=3815.75
2x2 4




32.

33.

34.

3s.

36.

37.

38.

39.

40.

41.

42,

43.

44.

51318.50><ll:$i><é
2 2
_ 8373 SIL_ ¢rn 05
2%x2 4
0g=> _4
105
06=2_32
10 s
02422 _6
100 25
0.64= 04 _16
100 25
073= ">
100
1000 8
087531 _ 7
1000 8
1000 200
00375= D> _3
10.000 80
08125125 _13
10.000 16
01875 85 _ 3
10.000 16
03125= 212 _ 3
10.000 16

Chapter 1 Problem Solving and Operations with Fractions 11

45.

46.

47.

48.

3.5218 to the nearest tenth is 3.5.
Locate the tenths digit and draw a line.
3.5|1218

Since the digit to the right of the line is 2,
leave the tenths digit alone.

3.5218 to the nearest hundredth is 3.52.
Locate the hundredths digit and draw a
line.

3.52(18

Since the digit to the right of the line is 1,
leave the hundredths digit alone.

4.8361 to the nearest tenth is 4.8.
Locate the tenths digit and draw a line.
4.8(361

Since the digit to the right of the line is 3,
leave the tenths digit alone.

4.8361 to the nearest hundredth is 4.84.
Locate the hundredths digit and draw a
line.

4.83|61

Since the digit to the right of the line is 6,
increase the tenths digit by 1.

0.0837 to the nearest tenth is 0.1.
Locate the tenths digit and draw a line.
0.0(837

Since the digit to the right of the line is 8§,
increase the tenths digit by 1.

0.0837 to the nearest hundredth is 0.08.
Locate the hundredths digit and draw a
line.

0.08|37

Since the digit to the right of the line is 3,
leave the hundredths digit alone.

2.548 to the nearest tenth is 2.5.
Locate the tenths digit and draw a line.
2.5|48

Since the digit to the right of the line is 4,
leave the tenths digit alone.

2.548 to the nearest hundredth is 2.55.
Locate the hundredths digit and draw a
line.

2.54(8

Since the digit to the right of the line is 8§,
increase the tenths digit by 1.
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49.

50.

51.

52.

Chapter 1 Problem Solving and Operations with Fractions

8.643 to the nearest tenth is 8.6.
Locate the tenths digit and draw a line.
8.6/43

Since the digit to the right of the line is 4,
leave the tenths digit alone.

8.643 to the nearest hundredth is 8.64.

Locate the hundredths digit and draw a line.

8.64/3

Since the digit to the right of the line is 3,
leave the hundredths digit alone.

86.472 to the nearest tenth is 86.5.
Locate the tenths digit and draw a line.
86.4|72

Since the digit to the right of the line is 7,
increase the tenths digit by 1.

86.472 to the nearest hundredth is 86.47.

Locate the hundredths digit and draw a line.

86.47|2

Since the digit to the right of the line is 2,
leave the hundredths digit alone.

58.956 to the nearest tenth is 59.0.
Locate the tenths digit and draw a line.

58.9/56

Since the digit to the right of the line is 5,
increase the tenths digit by 1 (which
increases the ones digit by 1).

58.956 to the nearest hundredth is 58.96.

Locate the hundredths digit and draw a line.

58.95|6

Since the digit to the right of the line is 6,
increase the hundredths digit by 1.

8.065 to the nearest tenth is 8.1.
Locate the tenths digit and draw a line.
8.0|65

Since the digit to the right of the line is 6,
increase the tenths digit by 1.

8.065 to the nearest hundredth is 8.07.

Locate the hundredths digit and draw a line.

8.06(5

Since the digit to the right of the line is 5,
increase the hundredths digit by 1.

53.

54.

5S.

56.

23.047 to the nearest tenth is 23.0.
Locate the tenths digit and draw a line.
23.0[47

Since the digit to the right of the line is 4,
leave the tenths digit alone.

23.047 to the nearest hundredth is 23.05.
Locate the hundredths digit and draw a
line.

23.04{7

Since the digit to the right of the line is 7,
increase the hundredths digit by 1.

65.464 to the nearest tenth is 65.5.
Locate the tenths digit and draw a line.
65.4/64

Since the digit to the right of the line is 6,
increase the tenths digit by 1.

65.464 to the nearest hundredth is 65.46.
Locate the hundredths digit and draw a
line.

65.46/4

Since the digit to the right of the line is 4,
leave the hundredths digit alone.

39.496 to the nearest tenth is 39.5.
Locate the tenths digit and draw a line.
39.4/96

Since the digit to the right of the line is 9,
increase the tenths digit by 1.

39.496 to the nearest hundredth is 39.50.
Locate the hundredths digit and draw a
line.

39.49/6
Since the digit to the right of the line is 6,

increase the hundredths digit by 1 (which
increases the tenths digit by 1).

92.337 to the nearest tenth is 92.3.
Locate the tenths digit and draw a line.
92.3|37

Since the digit to the right of the line is 3,
leave the tenths digit alone.

92.337 to the nearest hundredth is 92.34.
Locate the hundredths digit and draw a
line.

92.33|7

Since the digit to the right of the line is 7,
increase the hundredths digit by 1.
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0.75

57. —=0.75 4)3.00

28

20
20

0

LS OS]

0.875

7
58. —=0.875 8)7.000
8

64

56
40
40

0.375

3
59. —=0.375 8)3.000
8

24
60
56

40
40

s ~ 0.8333
60. - 0.83 ~ 0.833 6%
48
20
18
20
18
20
18

0.1666

1 —
61. ==0.16~0.167  6)1.0000
6

6
40
36
40
36
40
36
4

62. % —06~0.667

13

63. —
16

=0.8125

~ 0.813

64. Y 0.38
50

65. —=0.32

66. %: 03~ 0.333

0.6666

3)2.0000

18
20
18

20

18
20
18
2

0.812

16]13.0000

128
20
16

40

5

32

8

80

0.38

50)19.00

150
400
400

0

0.32

25%

75

50

0

0

13
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L 0.0101
67. —=001~0.010 99)1.0000
99 %
10
0
100
99
1

0.7849

73
68. — ~0.785 93)73.0000
93

651
790
744

460

372
880
837
43

0.625

5
69. —=0.625 8)5.000
8

48
20
16

40
40

0

s 0.5555
70. =05~0555 9)5.0000
45
50
45
50
45
50
45
5

s 0.8333
71 2=083~0833 6)5.0000
48
20
18
20
18
20
18
2

72.

73

74

75

76

71.

78

79.

80

0.4375

7
— =0.4375 16)7.0000
16

64
~0.438 60

48
120
12

80

Answers will vary.
Answers will vary.
Answers will vary.

Answers will vary.

4
loxol M9 _4x9 .
4 1 A4 1x1

1

Laura needs 36 yards of ribbon.

345115 =22 2
2 1 2

15

345 2 15x2

— = =30

124 1x
1

30 trips are required.

11+lzll><8:88
8
88 dispensers can be filled.
2
5 M 16 2x16

10+ —="—X—= =32
16 1§ 1Ix1
1

32 footings can be constructed.

. 1314%1091:ﬂ+&
21 2
6
:MX 2 _6x2_
1 249 1Ix1

1
12 homes can be fitted with baseboards.



82.

83.

84.

85.

86.

87. 4

Chapter 1 Problem Solving and Operations with Fractions

1200+ 71 1200 E
2 1 2

80

1200 2 80x2

= X— = =160

1 1 1xl

160 acres can be fertilized.

121x1§:§x1:25><7:£:211
2 4 2 4 2x4 8 8

21% ounces of chemical are needed.

9
36x373 = 26, 151 9x151
4 1 A4 1x1
1

1359 pounds of roofing nails are needed.

=1359

7

123 %08 =214 z:51X7::«557
4 A 1x1
1
2
7 ><16—— £:57X2:114
g I1x1
1
357 +114 =471
471 gallons of fuel are used.
18
6 a6 13, & 13x18 _ .,
y4 1x1
1
31><2 25 gzzsxn:ﬁ:%g
,g/ 4x1 4 4

4

2341682 = 302>
4 4

It takes a total of 302% minutes.

60 trips are needed.

88.

89.

90.

44

12261 44 x1

220 >< —= — =
5 1x1
1
44 cars were sold.

220—-44 =176
176 cars remain on the lot.

=44

135><191 135 329

_ 135><39 3265 2632—

Ix2 2 2

2632l
2

91

182x61—:& 123
g
:91><123:1L193

Ix1
11,193 inches of wood are necessary.

Chapter 1 Review Exercises

24 24+8 3
40 40+8 5
32 32«32 1
64 64+32 2
27 _27+27 _1
81 8127 3

147 _147+147 _ 1

294 204:147 2

63 _63+7 9

70 70+7 10

84 84=12 7

132 132+12 11

24 24+24 1
1200 1200+24 50

375 375+125 3

1000 1000125 8

15

inches of steel tubing are needed.



16 Chapter 1 Problem Solving and Operations with Fractions

8 65 19 3 1. 15 7 _L-7_8
9 Sﬁ — =8 7 3 21 21 21 21
8 8
64
1 _
5, 3_2_9% 8 _9-8 1
A 4 3 12 12 12 12
10. 12)56 6,8 42
12 12 3 1 1
48 21, 25— =125—
8 6 6
| +46§:46%
11. 24)38 8 _ 14,7 —5
24 24 12 71=
24 6
14
7 s 6 2. 182 =138
9 41 L =472t
6 10 30
: past sl
13. 45)120 @22&:22 55 25
%0 45  T45 73 90==90+1==
0 30 30
912912
o 30
14. 24)196 %:8%:8% . :
192 23, 6—=6—
n 2 12
. _ 2% _ 21i
15. 32)258 %*8%:8% 4_3741
256 12 4
2
3 qo4 2 1 . 92%:92%
16. 64)194 a:36—4: 5 | A
192 11 = =11—
2 4 16
g1
16

17. §+l:£+ﬂ:15+14:§:11
8 12 24 24 24 24 24

25. $3.80+$2.75=$6.55

I 3 3 8 12 15 The cost per square foot is $6.55.

B St s 0 0 0 $6.55 % 580 = $3799
8412415 35 7 The total cost is $3799.

40 40 8



Chapter 1 Problem Solving and Operations with Fractions 17

26. 34—-1.6=1.8 2 16
1.8 gallons are saved per flush. 30. 125 - 12%
1.8x22x365 = 14,454 6l _ 163
14,454 gallons are saved in one year. 8 24
11 .3 21,3 152 = 1522
27, 5=+ 6—+3>47=546—+3>+7 2 24
2 47y 4 47y | 4
sy ERyEE, ° 32g 11
442 5322 =53 11— =54
24 24 24

Desiree worked 22% hours. 1
The total weight is 54Z pounds.

28. 68%+37§+5%:68g+37§+5§ 1

" S g 3 Z_5x1_5
=110==111= g3

8 8 )

111% gallons of paint were used.

17
2SS Tixexs 0
X 8
147l = 147i = 1462 1
2 8 8
5 5 5 1
—111=- = 111-= 111—
8 8 8 PO WO N TV ES N |
6 3 1 2x1 2
57 H
There are 35z gallons of paint remaining y
8 34,1023 M0 828
8 1 F 1xi
1 1 1
29, 202- =202—
e 5 A
1 3 515 Ix2 2
4 1 3 8
+274%:274g
9 3.27 1527
11 3 3 36. 3-—+—=—+—
846— =846+1—=2847— 4 16 4 16
8 8 8 5 4
The three sides measure 8472 feet. :£X£ZM:E:2—
8 A2 1x9 9 9
1 9
7
1166—
2 3. 12%x1§:§x§:225><35:%:20%
847> x
8
319i:319l 38. 121+2:£+%=£xl
8 2 3 31 3 2
The length of the fourth side is 319l feet. = 37x1 = 37 = 6l
2 3x2 6 6



18

39.

40.

41.

42,

43.

44.

45.

Chapter 1 Problem Solving and Operations with Fractions

16.5x%0.48 = $7.92
3x$1.05=9$3.15

$7.92+$3.15=$11.07
The total amount is $11.07.

(3x$5)—$11.07 =$3.93
Barry got $3.93 change.

$1.4+$0.39~3.59~3.6
There are 3.6 million shares.

One-third is sold, so two-thirds is left.
85
2 3 255
A

1
—X 63—:z><
4

1x85_85_ 1
Ix2 2 2

3 4

There are 42% acres left.

25,730+10§=M+g
8 1 8

310

25730
25730 | 8 _310x8 _ 10

1 85 Ixl
1

2480 anchors can be manufactured.

157240202 3
2 8 2 8

4

9
M5 B _9x4_q
7 35 Ixl
1 1
36 pull cords can be made.

% of the profits will be retained for remodeling

costs, SO % will be disbursed equally to each of

three partners.
1

Z 1 $562,200  1x1x$562,200
—X—X =
4 F 1 4x1x1

1
~$562,200
4

= $140,550
Each partner receives $140,550.

025== 1
100 4

46. 0.625= 05 5
1000 8
47. 0.93= EER
100
5 1

48. 0.005=—=—-
1000 200

49. 68.433 to the nearest tenth is 68.4.
Locate the tenths digit and draw a line.
68.4(33

Since the digit to the right of the line is 3,
leave the tenths digit alone.

68.433 to the nearest hundredth is 68.43.
Locate the hundredths digit and draw a
line.

68.43|3

Since the digit to the right of the line is 3,
leave the hundredths digit alone.

50. 975.536 to the nearest tenth is 975.5.
Locate the tenths digit and draw a line.
975.5|36

Since the digit to the right of the line is 3,
leave the tenths digit alone.

975.536 to the nearest hundredth is 975.54.
Locate the hundredths digit and draw a
line.

975.53|6

Since the digit to the right of the line is 6,
increase the hundredths digit by 1.

51. 0.3549 to the nearest tenth is 0.4.
Locate the tenths digit and draw a line.
0.3/549

Since the digit to the right of the line is 5,
increase the tenths digit by 1.

0.3549 to the nearest hundredth is 0.35.
Locate the hundredths digit and draw a
line.

0.3549

Since the digit to the right of the line is 4,
leave the hundredths digit alone.



52.

53.

54.

5S.

Chapter 1 Problem Solving and Operations with Fractions

8.025 to the nearest tenth is 8.0.
Locate the tenths digit and draw a line.

8.0[25

Since the digit to the right of the line is 2,
leave the tenths digit alone.

8.025 to the nearest hundredth is 8.03.

Locate the hundredths digit and draw a line.

8.02(5

Since the digit to the right of the line is 5,
increase the hundredths digit by 1.

6.965 to the nearest tenth is 7.0.
Locate the tenths digit and draw a line.

6.9/65

Since the digit to the right of the line is 6,
increase the tenths digit by 1 (which
increases the ones digit by 1).

6.965 to the nearest hundredth is 6.97.

Locate the hundredths digit and draw a line.

6.96/5

Since the digit to the right of the line is 5,
increase the hundredths digit by 1.

0.428 to the nearest tenth is 0.4.
Locate the tenths digit and draw a line.

0.4(28

Since the digit to the right of the line is 2,
leave the tenths digit alone.

0.428 to the nearest hundredth is 0.43.

Locate the hundredths digit and draw a line.

0.42|8
Since the digit to the right of the line is 8,
increase the hundredths digit by 1.

0.955 to the nearest tenth is 1.0.
Locate the tenths digit and draw a line.

0.9/55

Since the digit to the right of the line is 5,
increase the tenths digit by 1 (which
increases the ones digit by 1).

0.955 to the nearest hundredth is 0.96.

Locate the hundredths digit and draw a line.

0.95/5

Since the digit to the right of the line is 5,
increase the hundredths digit by 1.

56. 71.249 to the nearest tenth is 71.2.
Locate the tenths digit and draw a line.

71.2/49

Since the digit to the right of the line is 4,
leave the tenths digit alone.

71.249 to the nearest hundredth is 71.25.
Locate the hundredths digit and draw a

line.

71.24|9
Since the digit to the right of the line is 9,

increase the hundredths digit by 1.

57. %: 0.625

58. —=0.75

LN O8]

59. % —83~0.833

60. Tz ~ 0.438
16

0.625

8)5.000

48
20
16

40
40
0

0.75

4)3.00

28
20
20

0

0.8333
6)5.0000
48
20
18
20
18
20
18
2

0.4375

16)7.0000

64
60
48
120
112
80
80

0

19



20 Chapter 1 Problem Solving and Operations with Fractions

Business Application Case #1 Business Application Case #2
Operating Expenses Home Repair
(a) Multiply each monthly amount by 12. (a) 10 feet =10x12 =120 inches
Salaries: $15,000x12 = $180,000 8 feet = 8x 12 = 96 inches
Rent: $9000x12 = $108,000
Utilities: $3000x12 = $36,000 8 feet 8é inches =96 + 8é = 104E inches
Insurance: $2250x12 = $27,000 8 8 8
Advertising: $2250x12 = $27,000 120 — 1042 =1 19§ - 1042 = 15é inches
8 8 8 8

Miscellaneous: $4500x12 = $54,000
5.
$180,000 + $108,000 + $36,000 =1foot 3§ inches

+$27,000+ $27,000 4 $54,000 = $432,000

The total annual operating expenses are 5
$432,000. 1foot 3§ inches.

The length of the remaining piece is

(b) Divide each annual amount by the total
annual operating expenses. (b) $10,000+$25.80 ~ 387.6

$180,000 5 387 shares can be purchased for $10,000.

Salaries;: — = —
$432,000 12

$108,000
ent; ——=

1
| $432,000 4 (d) Answers will vary.

Utilities: —$36’ 000 :L
$432,000 12

$27,000 1
Insurance: ——=—

$432,000 16

Adpvertising: m = 1
$432,000 16

Miscellaneous: w = l

$432,000 8

(c) Answers will vary.

(V]

Miscellaneous

Insurance



Chapter 2 I Equations and Formulas

Solving Equations

z+8=50
z+8—8=50—-8 Subtract 8.
z=42

r+13=283
r+13—13=83—13 Subtract 13.
r=170

z+95=400

z+95-95=400—95 Subtract 95.

z=1305

v—29=17
v—29+429=17+29 Add 29.
v=46

25=x+12
25—-12=x+12—-12 Subtract 12.
13=x

312=m—40
312+40=m—40440 Add 40.
352=m

. 10k =42

10k = 42 Divide by 10.
10 10
k=42

. 7s=84

Is = 84 Divide by 7.
7 7

s=12

. 12g =144

H_q:ﬁ Divide by 12.
12 12

qg=12

10.

11.

12.

13.

14.

15.

16.

17.

18.

8z=136
82 = 136 Divide by 8.
8 8

z=17

60 = 30m
@ 30m

=——Divide by 30.
30 30

2=m

94 =27

94 = 2—2Z Divide by 2.

16.5x =39.6
1655 39.6

165 165
x=24

Divide by 16.5.

1.54=0.7y

L34 075 pyivide by 0.7,
07 07

22=y

39a=15.6
39a = 156 Divide by 3.9.
39 39

a=4

3.92w =3.136
392w 3.136

——— = ——Divide by 3.92.
3.92 3.92

w=0.8

2.773m = 3.3276
2.773m 33276

2773 2773
m=1.2

Divide by 2.773.

21
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19.

20.

21.

22,

23.

24.

25.

26.

Chapter 2 Equations and Formulas

0.0002x = 0.08
0.0002x  0.08

0.0002  0.0002
x = 400

0.0324 =0.0135y
0.0324

0.0135  0.0135
24=y

fop

7

%-7 =427 Multiply by 7.
s =294

Divide by 0.0002.

00135y 1yvvide by 0.0135.

5
-—s Multiply by —.
1 pLy )’5

27.

28.

29.

30.

31.

32,

33.

35:zt
5
5 57 5
—-35=—-—¢t Multiply by —
- s ply by =
25=t
Zs:21
3
37 3 3
—.—s=—-21 Multiply by —
=5 ply by
s=9
2x:§
3
] 15 ]
LYoo= L2 Munipy by L.
2 2’3 PRy
5
x==
6
!
dy—1
Y73
! 11 !
Loy =LY snussipty by L.
17793 POy
_ 1
T
5
3p=
=1
! 15 !
L3p =22 Multiply by —.
377730 PYEY S
_3
P=3

|
N
)

-9a Multiply by 5

|
2

OI»—

~

o Alw AW
\D|>—

7b+9 =37
Tb+9—-9=37—-9 Subtract9.

7b =128

7b 28

—=— Divide by 7.
7 7

b=4
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